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Youden, W.J. (1950). "Index for rating diagnostic tests". Cancer. 3: 32-35
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CHAZE Hra 2 S M2= V12| EETO0| QT 7FYSHAL HS(EE| 285|= Bl Tli= p7io] 25
TS (EEH)0[2} oAt & HEe| it 242 M2 HOlsiTt

I

Zlch 71-1~]01(£C)~MN(ﬁ1, 2)) BREt2: ”2~f2(£)~MN(ﬁ2’ 22)

2t AEEto 2 RE (ny, ny) 372 2 IHHE FE510] 2 STHA0| EZS TARICIL 5Kt 2 &

2ol YrHES (X, X,), SRMHBE (5}, ;) of=rat

import pandas as pd
df=pd.read excel('htto

RangeIndex: 1309 entries, 0 to 1308
Data columns (total 14 columns):
Non-Null Count

non-null
survived non-null
name non-null
sex non-null
age non-null floaté64
sibsp non-null inté64
parch non-null inté64
ticket non-null object
fare non-null floaté64
cabin 295 non-null object
embarked 1307 non-null object
boat 486 non-null object
body 121 non-null floaté64
home.dest 745 non-null object

0
1
2
3
4
5
6
7
8

e )
W N R~ O

df=pd.read_csv('http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/
DATA/titanic_original.csv') []
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€ Titanic {  a

C|O[E gt

5

gok

CIS2EO| TERIAL (0, 1=4F, UF) OITY 2A M4 Z HEst= Ho| F

'hitp://wolfpack.hnu.ac.kr/Stat Notes/adv_stat/DATA/
titanic_original.csv'#df.dropna(subset=['survived],inplace=True) 0llA HIO|E{E 22{2H
survuved H[0|E& floate 2 &/ S
#df[‘survived’]=df['survived'].astype(int) #integerZ 2t

df.dropna(subset=[‘survived'], inplace=True) #Z&X| A<l
df['survived'].mean()

[> 0.3819709702062643 0] Mz 00| Al{0|D2 MES=HHO0|D2 38 2% MES

C)

MZS - 0M BFEEZH 72 7%, 152 S24 61.9%, Chersburg &f7 SE4X| 52 55.6%

titanic=df
titanic.groupby('sex').mean()['survived']

embarked
0.619195 B C 0.555556

0.429603 B Q 0.357724
0.19098583.0 0.255289 B S 0.332604

import seaborn as sns
sns.barplot(x="sex",y="survived",data=titanic)
plt.title("Survival Rate")
plt.ylabel("Survival Rate")

plt.show()
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titanic_da.dropna() : Nan Z3ZX| GOl X<

titanic_da=titanic[['age', 'fare', 'survived']]
titanic_da=titanic_da.dropna()

titanic_da

import plotly.express as px

fig = px.scatter(titanic_da,x="age”,y="“fare”,
color=titanic_dal“survived”].astype(str),marginal_y="box",margina
1_x="box")

fig.show()

import seaborn as sns
df=titanic[['age', 'fare', 'no_company', 'survived']]
ax=sns.pairplot(df,hue="survived',corner=True,diag_kind="hist")
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Box’s (1949) M-test for homogeneity of covariance matrices obtained from multivariate normal data according
to one or more classification factors.

DEE SE4 70| 2HESHH QDA S AFESLT.

(e JTLENY B

=> DiETA| MEHS Fusion (SR F)S 0185t T HEHTo| ofsf 5% 2R 20| S22

titanic<-read.csv('http://wolfpack.hnu.ac.kr/Stat Notes/adv_stat/
DATA/titanic_original.csv')

install.packages('heplots"')

library(heplots)

boxM(titanic[,c(5,9)],titanicl[,2])

> boxM(titanic[,c(5,9)],titanic[,2])
Box's M-test for Homogeneity of Covariance Matrices

data: titanic[, c(5, 9)]
Chi-Sq (approx.) = 255.42, df = 3, p-value < 2.2e-16
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import pandas as pd
titanic=pd.read_excel('http://biostat.mc.vanderbilt.edu/wiki/pub/
Main/DataSets/titanic3.x1ls"')

titanic.dropna(subset=['survived'], inplace=True)
#titinic['survived']l=titinic['survived'].astype(int)
df=titanic[['age', 'fare', 'survived']]

df=df.dropnal()

df.info()

from sklearn.preprocessing import scale
X=scale(df[['age', 'fare'll)
y=np.array(df[‘survived'])

pY
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Fisher LDA Linear Discriminant Analysis

LinearDiscriminantAnalysis(priors=[0.4,0.6])

from sklearn.discriminant_analysis import LinearDiscriminantAnalysis
import numpy as np

lda=LinearDiscriminantAnalysis()

model_lda=1lda.fit(X,y)

print(model_lda.priors_,model_lda.coef_)

LinearDiscriminantAnalysis(priors=[0.4,0.61)

[> [0.59138756 0.40861244] [[-0.22263017 0.58499963]]

fare survived

array([[0.19026851, 0.80973149], o0 29.0000 211.3375 1

[0.22181564, 0.77818436],

1 09167 1515500 1
10.22472367. 0.775276331.
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pred_lda=model_lda.predict(X)
pred_1lda
#print(np.unique(pred_lda, return_counts=True))

array([1, 1, 1, ..., 0, 0, 0]) (array([0, 1]), array([918, 127]))

-Ld a_y:pd . DataF rame ( p red_lda ) age fare survived y_lda result
lda_y.columns=["y_lda'] 0 29.0000 2113375 1 1 Gl
lda_y.set_index(df.index,inplace=True) 1 o967 151550 1 1 6
df_lda=pd.concat([df, lda_yl,axis=1) 2 20000 1515500 0 1 wo1

df_lda.loc[(df_lda['survived']l==1) &
(df_lda['y_lda'l==1), 'result']="G11"
df_lda.loc[(df_lda['survived']==1) &
(df_ldal'y_lda'l==0) ,'result']='W10"
df_lda.loc[(df_lda['survived']==0) &
(df_ldal'y_lda'l==1) ,'result']="WO1'
df_lda.loc[(df_ldal['survived']==0) &
(df_ldal['y_lda'l==0) ,'result']='G00"
df_lda.head(3)

import plotly.express as px

fig = px.scatter(df_1lda,x="age",y="fare",
color=df_lda["y_1lda"]l.astype(str),title="LDA discriminant rule")
fig.show()

LDA discriminant result

* color=1
* color=0
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import plotly.express as px
fig = px.scatter(df_lda,x="age",y="fare",
color=df_lda["result"].astype(str),title="LDA discriminant result")

fig.show()

Py ° e color=G11
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400 e color=G00
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L FetE 638% At EHE T2tk 631%(A AR EIEE 928%(579+339) S AU 2 FEFE 5798 H
2), ME I TotE 69.3% (dE IHE 1278 5 MEC = IHHEI 88H H|E)
tp tp precison X recall

precision = ——— recall = Sflscore =2 .
tp +fp tp +fn precison + recall

from sklearn.metrics import confusion_matrix,
classification_report, precision_score
print(confusion_matrix(pred_lda,y))

print(classification_report(y, pred_lda, dig

pd.crosstab(df_ldal[‘survived'],df_lda['y_lda']) #3Z&xz

[[579 339]
[ 39 88]]
precision recall fl-score support
0 0.631 0.937 0.754 618 y_lda 0 1
1 0.693 0.206 0.318 427
survived
accuracy 0.638 1045
macro avg 0.662 0.571 0.536 1045 : =
weighted avg 0.656 0.638 0.576 1045 1 339 88

& HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [20/57]



http://wolfpack.hnu.ac.kr

[CHAZF o|=28) [2ET 271 _LDAZA]

ROC & AUC

from sklearn.metrics import roc_curve

from sklearn.metrics import roc_auc_score

auc = roc_auc_score(y,probs_1ldal:,1])
fpr,tpr,thresholds=roc_curve(y,probs_1ldal:,1])
print('AUC for LDA: %.2f' % auc)

[> AUC for LDA: 0.68

0.68 Satisfactory 2t&EsSt=

def plot_roc_curve(fpr, tpr,p):
import matplotlib.pyplot as plt
plt.plot(fpr, tpr, color='orange', label='ROC"')
plt.plot([0, 11, [0, 11, color='darkblue', linestyle='—-"')
plt.xlabel('False Positive Rate')
plt.ylabel('True Positive Rate')
plt.title('Receiver Operating Characteristic (ROC) Curve')
plt.axvline(x=p, linestyle='—-", linewidth=0.7,color="k")
plt.
plt.

plot_roc_curve(fpr, tpr,0.5)

Receiver Operating Characteristic (ROC) Curve

101 - RoC

0.8 1

Tue Positive Rate

0.0 02 04 06 08 10
False Positive Rate

Optimal threshold : AFEEHE=0.360 O|Af MZE(Y=1)OF BICISIH HEES =2 £~ Q)8 &2 LIS

def Find_Optimal_Cutoff(target, predicted):
fpr, tpr, threshold = roc_curve(target, predicted)
i = np.arange(len(tpr))
roc = pd.DataFrame({'tf' : pd.Series(tpr-(1-fpr), index=1i),

"threshold' : pd.Series(threshold, index=i)})
roc_t = roc.iloc[(roc.tf-0).abs().argsort()[:1]]
return list(roc_t['threshold'])

Find_Optimal_Cutoff(y,probs_ldal:,1]) [> [0.3691232279260048]
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Fisher QDA Quadratic Discriminant Analysis

QuadraticDiscriminantAnalysis(priors=[0.4,0.6])

from sklearn.discriminant_analysis import
QuadraticDiscriminantAnalysis
qda=QuadraticDiscriminantAnalysis()

print(model_qda.priors_)

[ [0.59138756 0.40861244]

age fare survived

array([[2.92682333e-05, 9.99970732e-01],
[2.89782837e-03, 9.97102172e-01],
[3.09723129e-03, 9.9690276%9e-01]1])
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array([1, 1, 1, ..., 0, 0, 0]) > (array([O0, 1]), array([933, 112]))

qd a_y:pd .DataFrame ( p red_qda ) age fare survived y_qda result
qda_y.columns=['y qgda'] 0 290000 2113375 1 1 G
gda_y.set_index(df.index, inplace=True) 1 o967 1515500 1 1 Gn
df_qgda=pd.concat([df,qda_yl,axis=1) 2 20000 1515500 0 1 wol

df_qgda.loc[(df_qgdal'survived']==1) &
(df_gdal'y_qgda'l==1), 'result']="G11"

df_qgda.loc[(df_qgdal['survived']==1) &
(df_qdal'y_qda'l==0) ,'result']="'W10"
df_qgda.loc[(df_qgda['survived']==0) &
(df_gdal'y_qgda'l==1) ,'result']='WO1'
df_qgda.loc[(df_qgdal'survived']==0) &
(df_gdal'y_qgda'l==0) ,'result']='G00"

import plotly.express as px
fig = px.scatter(df_gda,x="age",y="fare"

QDA discriminant rule
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import plotly.express as px
fig = px.scatter(df_qda,x="age",y="fare",
color=df_qda["result"].astype(str),title="QDA discriminant result")

fig.show()

o iy Dept. of Statistics http:/wolfpack.hnu.ac.kr [23/571
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QDA discriminant result
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I oxXtE 2 YES HIE
IHH T5E2 63.3%(LDA 63.8%), A2 T KSHE 62 6%(LDA-63.1%, AlUAIE THEE] 93304(584+349) & Al
Ao 2 MEZE 584 H|E), M= THHE Mt 69.6% (LDA-69.3%, A2 EHH 1123 & MEO 2 THHE| 78T
HIZ)
. tp tp precison X recall
precision = ——— recall = ——— f1lscore =2 .
tp+fp tp +fn precison + recall

from sklearn.metrics import confusion_matrix,
classification_report, precision_score
print(confusion_matrix(pred_qda,y))

print(classification_report(y, pred_gda, digits=3))

[[584 349]
[ 34 78]]
precision recall fl-score support
0 0.626 0.945 0.753 618
1 0.696 0.183 0.289 427
accuracy 0.633 1045
macro avg 0.661 0.564 0.521 1045
weighted avg 0.655 0.633 0.564 1045
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ROC & AUC

from sklearn.metrics import roc_curve

from sklearn.metrics import roc_auc_score

auc = roc_auc_score(y,probs_qdal:,1])
fpr,tpr,thresholds=roc_curve(y,probs_qdal:,1])
print('AUC for LDA: %.2f' % auc)

[> AUC for LDA: 0.66

def plot_roc_curve(fpr, tpr,p):

import matplotlib.pyplot as plt

plt.plot(fpr, tpr, color='orange', label='ROC"')
plt.plot([o, 11, [0, 11, color='darkblue', linestyle='—-"')
plt.xlabel('False Positive Rate')

plt.ylabel('True Positive Rate')

plt.title('Receiver Operating Characteristic (ROC) Curve')
plt.axvline(x=p, linestyle='—-", linewidth=0.7,color="k")
plt.legend()

plt.show()

plot_roc_curve(fpr, tpr,0.5)

Receiver Operating Characteristic (ROC) Curve
109 - Roc

Tue Positive Rate

00 02 04 06 08 10
False Positive Rate

Optimal threshold : AFEEHE=0.2429 0|AF MZ(Y=1)O 2 LSIH MatES = 4 Q)8 &2 U

def Find_Optimal_Cutoff(target, predicted):

fpr, tpr, threshold = roc_curve(target, predicted)

i = np.arange(len(tpr))

roc = pd.DataFrame({'tf' : pd.Series(tpr-(1-fpr), index=1i),
"threshold' : pd.Series(threshold, index=i)})

roc_t = roc.iloc[(roc.tf-0).abs().argsort()[:1]]
return list(roc_t['threshold'])
Find_Optimal_Cutoff(y,probs_qdal:,11)

[0.24292416296069144]
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Logistic Regression Discriminant Analysis

0
ol
I
il

import pandas as pd
titanic=pd.read_excel('http://biostat.mc.vanderbilt.edu/wiki/pub/
Main/DataSets/titanic3.x1s"')
titanic.dropna(subset=['survived'],inplace=True)
titinic['survived']l=titinic['survived'].astype(int)
df=titanic[['age', 'fare', 'survived']]

df=df.dropnal()
df.info()

from sklearn.linear_model import LogisticRegression
X=df[['age', 'fare'll

y=df['survived']

logreg = LogisticRegression()

logreg. fit(X,y)

LogisticRegression(C=1.0, class_weight=None, dual=False, fit intercept=True,
intercept_scaling=1, 11 ratio=None, max iter=100,
multi class='auto', n_jobs=None, penalty='1l2",
random_state=None, solver='lbfgs', tol=0.0001], verbose=0,
warm_start=False)

logit_pred=np.array(logreg.predict(X))

logit_y_1=np.array(logreg.predict_proba(X)[:,1])
result=np.stack((logit_pred, logit_y_1),axis=1)
logit_pred=pd.DataFrame(result, index=df.index, columns=["1logit_y","logit_y1"])
logit_pred.head(3)

df_logit=pd.concat([df,logit_pred],axis=1)
df_logit.head(3)

logit_y logit_yl age fare survived logit_y logit_yl
0 1.0  0.882296 0 29.0000 211.3375 1 1.0  0.882296
1 1.0 0.843046 1 0.9167 151.5500 1 1.0  0.843046
2 1.0 0.840630 2 2.0000 151.5500 0 1.0 0.840630

@ HNU Dept. of Statistics http://wolfpack.hnu.ac.kr (26/57]



http://biostat.mc.vanderbilt.edu/wiki/pub/Main/DataSets/titanic3.xls
http://df.info
http://wolfpack.hnu.ac.kr

(CHEHZF OS2 e] [REICH 270_2X|AES|HEHE]

df_logit.loc[(df_logit['survived']==1) & (df_logit['logit_y'l==1), 'result']l="G11"'
df_logit.loc[(df_logit['survived']==1) & (df_logit['logit_y'l==0), 'result'l="'w10"'
df_logit.loc[(df_logit['survived']==0) & (df_logit['logit_y'l==1), 'result']l="wo1"'
df_logit.loc[(df_logit['survived']==0) & (df_logit['logit_y']l==0), " 'result']='G0o0"

import plotly.express as px

fig = px.scatter(df_logit,x="age",y="fare",
color=df_logit["logit_y"]l.astype(str),title="Logistic Reg. discriminant rule")
fig.show()

Logistic Reg. discriminant rule
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import plotly.express as px
fig = px.scatter(df_logit,x="age",y="fare",color=
df_logit["result"].astype(str),title="Logistic Reg. discriminant result")

Logistic Reg. discriminant result
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Confusion matrix LE=

rm

HH MEHE 64%(DA 63.8% QDA-63.3%), At EHE &t 63.7% (LDA-63.1%, QDA-62.6% AFYA}Z LHH
| 880Q(561+319) T AIUO 2 MEZE| 5849 H|E), MIZ IHE MSHE 65.5% (LDA-69.3%, QDA-69.6% A=

=
I 1658 S dECE THEE 108H HIE)
o tp tp precison X recall
precision = ——— recall = Sflscore =2 .
tp +fp tp +fn precison + recall

pd.crosstab(df_logit['survived'],df_logit['logit_y'l)

from sklearn import metrics
cnf_matrix = metrics.confusion_matrix(

cnf_matrix
logit_y 0.0 1.0 [> array([[561, 57],
survived (319, 10811)
0 561 57
1 319 108

print("Accuracy:",metrics.accuracy_score(y,logit_pred))
print("Precision:",metrics.precision_score(y, logit_pred))
print("Recall:",metrics.recall_score(y,logit_pred))

> Accuracy: 0.6401913875598086
Precision: 0.6545454545454545
Recall: 0.2529274004683841

from sklearn.metrics import confusion_matrix,
classification_report, precision_score
print(confusion_matrix(logit_pred,y))

print(classification_report(y, logit_pred, digits=3))

> [[561 319]
[ 57 108]]
precision recall fl-score support

0 0.637 0.908 .749 618
1 0.655 0.253 .365 427

accuracy .640 1045
macro avg . . .557 1045
weighted avg . . .592 1045
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ROC & AUC

from sklearn.metrics import roc_curve
from sklearn.metrics import roc_auc_score
auc = roc_auc_score(y, logreg.predict_proba(X)[:,1])

fpr,tpr,thresholds=roc_curve(y, logreg.predict_proba(X)[:,1])
print('AUC for Logit: %.2f' % auc)

EEII!ii!liﬂ!l!li&!!llﬂl!i!

def plot_roc_curve(fpr, tpr,p):
import matplotlib.pyplot as plt
plt.plot(fpr, tpr, color='orange', label='R0OC'")
plt.plot([0, 11, [0, 11, color='darkblue', linestyle='—-")
plt.xlabel('False Positive Rate')
plt.ylabel('True Positive Rate')
plt.title('Receiver Operating Characteristic (ROC) Curve')
plt.axvline(x=p, linestyle='—-",linewidth=0.7,color="k")
plt.
plt.

plot_roc_curve(fpr, tpr,0.5)

Receiver Operating Characteristic (ROC) Curve
101 — RroC

Tue Positive Rate

00 02 04 06 08 10
False Positive Rate

Optimal threshold : AFEEHE=0.3671 O|& ME(Y=1)2 2 EICtsIH HetE2 =Y £+ 8, 2L U

def Find_Optimal_Cutoff(target, predicted):

fpr, tpr, threshold = roc_curve(target, predicted)

i = np.arange(len(tpr))

roc = pd.DataFrame({'tf' : pd.Series(tpr-(1-fpr), index=1i),
"threshold' : pd.Series(threshold, index=1i)})

roc_t = roc.iloc[(roc.tf-0).abs().argsort()[:1]]

return list(roc_t['threshold'])
Find_Optimal_Cutoff(y,probs_qdal:,1])

[> [0.3671353826305273]
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statsmodels 2= &-2510] FTHUNA =3

i ) =—0.341 —0.0168Age + 0.0134Fare
— T

FHEE: logit(n) = In( "

= 72[2tE0] <0.001 2 0 HoF R2lg

Ljo| 9, @ w4 p= Qo

Lto| 3|74 57t 0|22 Lio|7} BOotE= MZ 8tE Hotg => 00168 = (0.9833,

1/0.9833 = 1.017 Lt0|7} 1A SHOFX[H MZE QAAAUTHH| HE2F)7H 078 522 &5

- Q2 3| 20|E2 QI Blo| X[BE4E MESIE =0fR => F00134 = 1 0135 22 mies

==
O K25 HME 2 101350 & 4

import pandas as pd
titanic=pd.read_excel('http://biostat.mc.vanderbilt.edu/wiki/pub/
Main/DataSets/titanic3.x1s"')

titanic.dropna(subset=['survived'],inplace=True)
#titinic['survived']=titinic['survived'].astype(int)

df=titanic[['age','fare', 'survived']]
df=df.dropnal()

import statsmodels.api as sm
X=df[['age', 'fare'l]l

y=df['survived']
X=sm.add_constant (X)
model_log=sm.Logit(y,X)
result=model_log.fit(method="newton")

result.summary()

[ Optimization terminated successfully.
Current function value: 0.634973

Iterations 6
Logit Regression Results

Dep. Variable: survived No. Observations: 1045
Model: Logit Df Residuals: 1042
Method: MLE Df Model: 2

Date: Sun, 11 Oct 2020 Pseudo R-squ.: 0.06118
Time: 01:22:02 Log-Likelihood: -663.55
LL-Null: -706.79

converged: True
Covariance Type: nonrobust
coef stderr z  P>|z| [0.025 0.975]
const -0.3410 0.152 -2.250 0.024 -0.638 -0.044
age -0.0168 0.005 -3.537 0.000 -0.026 -0.007
fare 0.0134 0.002 7.487 0.000 0.010 0.017

LLR p-value: 1.667e-19
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result.predict(X)

df['logit_sm_y1l']=pd.DataFrame(np.array(result.predict(X)), index=
df.index, columns=["sm_logit_y1"])

df.loc[df['logit_sm_yl']>0.5, 'sm_result']=1
df.loc[df['logit_sm_yl']<=0.5, "'sm_result']=0

import plotly.express as px

fig = px.scatter(df,x="age”,y="fare",color=
istic Reg. discriminant rule")

Logistic Reg. discriminant rule
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from sklearn.metrics import confusion_matrix, classification_report,

precision_score
print(confusion_matrix(np.array(df['sm_result'l),y))

print(classification_report(y,np.array(df['sm_result']), digits=3))

[[561 319]
[ 57 108]]

precision recall fl-score support
0 0.637 0.908 0.749 618
1 0.655 0.253 0.365 427
accuracy 0.640 1045
macro avg 0.646 0.580 0.557 1045
weighted avg 0.644 0.640 0.592 1045
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Ofix| Bi|O[E] =212 |

import pandas as pd
titanic=pd.read_excel('http://biostat.mc.vanderbilt.edu/wiki/pub/
Main/DataSets/titanic3.x1s"')

<class 'pandas.core.frame.DataFrame'>
RangeIndex: 1309 entries, 0 to 1308
Data columns (total 14 columns):

# Column Non-Null Count Dtype

0 pclass 1309 non-null int64

1 survived 1309 non-null inté64

2 name 1309 non-null object

3 sex 1309 non-null object

4 age 1046 non-null float64

5 sibsp 1309 non-null int64

6 parch 1309 non-null int64

7 ticket 1309 non-null object

8 fare 1308 non-null float64

9 cabin 295 non-null object

10 embarked 1307 non-null object

11 Dboat 486 non-null object

12 body 121 non-null float64

13 home.dest 745 non-null object
22X iR 22l & 2 Ui H0|E : 2542 20| &8 =70l

df=titanic.ilocl:, [0,1,3,4,5,6,8,10]]
titanic.isnull().sum() df=df.dropnal()
df.infol()

pclass 0 .

survived 0 Int64Index: 1043 entries, 0 to 1308
name 0 Data columns (total 8 columns):

sex 0 #  Column Non-Null Count Dtype
age 263 - = T~/ T TTTTmTmemTs Tmee=
sibsp 0 0 pclass 1043 non-null inté64
parch 0 1 survived 1043 non-null inté64
ticket 0 2 sex 1043 non-null object
fare 1 3 age 1043 non-null float64
cabin 1014 4 sibsp 1043 non-null  int64
embarked 2 5 parch 1043 non-null  inté64
boat 823 6 fare 1043 non-null  float64
body 1188 7 embarked 1043 non-null object
home.dest 564

@ HNU Dept. of Statistics
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(CHAE OISR E) (2R 27H_2XIAES|F(HFHE 28)]

255 14 0|34 BHST |

RS Wz KON (k — 1)7H it Eesich

G027} 7HK = 242 O, 10|Ch S|F2 ol T | = XA 210 SH,

AE-male, famale 2712t = E< st 72| Cio|Hapro = 148 J7HSSITE 5101 sex_male2 HREICtH
HF:7H 370l EEEEE 2710| H{o|#Hot ZRstE 2 OXK|2E embarked_S= X2

A 5|2AI~2| 2|0|= 0XtRl BL0|0Y, embarked= S7 & CHE &b+ X107} EICE,

indicate_lst=df[['sex', 'embarked']]
indicate=pd.get_dummies(indicate_var)
indicate.head(3)

sex female sex_male embarked C embarked Q embarked_S

0 1 0 0 0 1
1 0 1 0 0 1

EXAE 3172y =

df=pd.concat([df,indicate],axis - ReletdFH: HUSH, LI0] SEHTIES o

=1) _ o E5%|

import statsmodels.api as sm i
X=df.ilocl[:, < HEVMed =2 B L0 HEaeEEFHAI 7
l,3,4,5,6,8,10,1111 5 8), HAUET E242(pdass 2 40| E2
y=df['survived'] Al

X=sm.add_constant(X)
model_log=sm.Logit(y
result=model_log.fit
result.summary()

« 0{XKsex _famale, 3|HAl%> 2H0|Z =2 =X} H2H A
=y S =

O IO

X
)

(

« =5 IEL oo| slalHsE O =
Logit Regression Results E%Fxl CEEE O—l 3|:’1|"‘QE 7|'X|—§ 7|T'—_O|
Dep. Variable: survived No. Observations: 1043 C=ESSYHAHECEHETISME =OLTQo| dR=S
Model: Logit Df Residuals: 1034 = -
St HISH AH= JH=A LS
Method:  MLE Df Model: 8 70l Blell JE /s HS
Date: Sun, 11 Oct 2020 Pseudo R-squ.: 0.32Z SO =
. 0" ° e LIO|2t 2F F Wit etgsl ni= 220( falst
Time: 23:57:24 Log-Likelihood: -477.. = o Usilmr A
converged:  True LL-Null: 704, ALt pdass(HASE)7t 2a= T = U0 A
Covariance Type: nonrobust LLR p-value: 2794 AMEF HT QFBE0HEH M= 08 T =240

coef stderr z P>|z| [0.025 0.975] _:%7' [[H‘E— O|E|-,

const 1.9259 0.446 4.321 0.0001.052 2799
pclass -1.0093 0.133 -7.563 0.000 -1.271 -0.748
age -0.0377 0.007 -5.681 0.000 -0.051 -0.025
sibsp -0.3480 0.108 -3.209 0.001 -0.561 -0.135
parch 0.0498 0.104 0.478 0.632 -0.154 0.254
fare 0.0005 0.002 0.239 0.811 -0.003 0.004
sex_female 2.6089 0.179 14.550 0.000 2.258 2.960
embarked_C 0.6791 0.212 3.210 0.001 0.264 1.094
embarked_Q -0.7674 0.406 -1.889 0.059 -1.564 0.029

p
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AL

0
El
£
>
r
gu)

2tE I phERICE 0S| 2 Confusion

ol

y_pred=1x(result.predict(X)>0.5)
y_pred

from sklearn.metrics import confusion_matrix,
classification_report, precision_score
print(confusion_matrix(y_pred,y))
print(classification_report(y,y_pred))

I TEE 79%, A EHE HET 81% (AUATZ EHEEl 654 (527+127) & Atde = EEFE 5273 H|8),
AYZE THH TSI 77% (MZ B 4899 & MZEO 2 THEE| 2983 HIE)
o tp tp precison X recall
precision = ———, recall = ——— flscore =2 _
tp +fp tp+fn precison + recall
> [[527 127]
[ 91 298]]
precision recall fl-score support
0 0.81 0.85 0.83 618
1 0.77 0.70 0.73 425
accuracy 0.79 1043
macro avg 0.79 0.78 0.78 1043
weighted avg 0.79 0.79 0.79 1043

ROC & AUC

from sklearn.metrics import roc_curve

from sklearn.metrics import roc_auc_score
auc = roc_auc_score(y,result.predict(X))
fpr,tpr,thresholds=roc_curve(y, result.predict(X))

print('AUC for LDA: %.2f' % auc)

def plot_roc_curve(fpr, tpr,p):
import matplotlib.pyplot as plt
plt.plot(fpr, tpr, color='orange', label='ROC')
plt.plot([0, 11, [0, 11, color='darkblue', linestyle='—-")
plt.xlabel('False Positive Rate')
plt.ylabel('True Positive Rate')
plt.title('Receiver Operating Characteristic (ROC) Curve')
plt.axvline(x=p, linestyle='—-",linewidth=0.7,color="k")
plt.legend()
plt.show()

plot_roc_curve(fpr, tpr,0.5)

[> AUC for LDA: 0.85 Ol Z2 very good MBI 0 =2

T SO
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Receiver Operating Characteristic (ROC) Curve

10 1 —— ROC ”

True Positive Rate

0.0 02 0.4 06 08 10
False Positive Rate

def Find_Optimal_Cutoff(target, predicted):
fpr, tpr, threshold = roc_curve(target, predicted)
i = np.arange(len(tpr))
roc = pd.DataFrame({'tf' : pd.Series(tpr-(1-fpr), index=i),

"threshold' : pd.Series(threshold, index=i)})
roc_t = roc.iloc[(roc.tf-0).abs().argsort()[:1]]
return list(roc_t['threshold'])

Find_Optimal_Cutoff(y, result.predict(X))

[> [0.37389987544724196]
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df=pd.concat([df,indicatel]l,axis=1)
import statsmodels.api as sm
X=df.ilocl[:,[0,3,4,8,10,11]]

X=sm.add_constant(X)
model_log=sm.Logit(y,X)
result=model_log.fit()
result.summary()

Logit Regression Results

sex_female 2.6295 0.176
embarked_C 0.6919 0.207
embarked_Q -0.7802 0.405

coef stderr

z  P>|z|] [0.025 0.975]

const 1.9781 0.408 4.852 0.000 1179 2.777

pclass  -1.0232 0.1177 -8.746 0.000 -1.252 -0.794
age -0.0378 0.007 -5.708 0.000 -0.051 -0.025
sibsp -0.3270 0.102 -3.192 0.001 -0.528 -0.126

14.922 0.000 2.284 2.975
3.344 0.001 0.286 1.097
-1.924 0.054 -1575 0.014

Dep. Variable: survived No. Observations: 1043
Model: Logit Df Residuals: 1036
Method: MLE Df Model: 6
Date: Mon, 12 Oct 2020 Pseudo R-squ.: 0.3226
Time: 00:13:10 Log-Likelihood: -477.56
converged:  True LL-Null: -704.99
Covariance Type: nonrobust LLR p-value: 4.389e-95

L FEE 79%(5= W AFET 52, A T éiE 85% (81%601| A =O1E), 4 Tl 2t 70% (77%
Oil] SOFE) - 447 T2 SIOL|AY B2 £ - BISETIOIN £ B3 2N It £ S5t
Occam’s razor (@A HEE M2 7PHo 2 SUSHAZE0| CSot= MD:IO| O Z£2 EAlste| RolM HFe| 2
0] EICh EEo M= Relet B2 5h= Z10] M Ee) of% EIE| ARSI fare(R[E2), parch SEF £IX]
=) B0 Tt FHE= O Ol 2R | =0 o R&3IC
> [[527 128]
[ 91 297]]
precision recall fl-score support
0 0.80 0.85 0.83 618
1 0.77 0.70 0.73 425
accuracy 0.79 1043
macro avg 0.79 0.78 0.78 1043
weighted avg 0.79 0.79 0.79 1043
(?§ .
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import pandas as pd
titanic=pd.read_excel('http://biostat.mc.vanderbilt.edu/wiki/pub
Main/DataSets/titanic3.x1s"')

indicate=pd.get_dummies(df[['sex', "embarked']]
df@=pd.concat([df,indicate],axis=1
df@.info()

Int64Index: 1043 entries, @ to 1308
Data columns (total 10 columns):

# Column Non-Null Count Dtype
@ pclass 1043 non-null int64
1 survived 1043 non-null int64
2 sex 1043 non-null object
3 age 1043 non-null float64
4 sibsp 1043 non-null 1int64
5 parch 1043 non-null int64
6 fare 1043 non-null float64
7  embarked 1043 non-null object
8 sex_female 1043 non-null uint8

(]

sex_male 1043 non-null uint8
10 embarked_C 1043 non-null uint8
11 embarked_Q 1043 non-null uint8
12 embarked_S 1043 non-null uint8

X=df0.ilocl[:,[0,3,4,5,8,10,11]]
y=df@['survived']

X.head(3)

B pclass age sibsp parch sex_female embarked C embarked_0
0 1 29.0000 0 0 1 0 0
1 1 0.9167 1 2 0 0 0
2 1 20000 1 2 1 0 0

& HNU Dept. of Statistics http://wolfpack.hnu.ac.kr (37/571
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[CHHZF OS2 ] [2ZICh 270 ML EX|AE!]

Logistic Regression

from sklearn.linear_model import LogisticRegression
logreg=LogisticRegression()
logreg.fit(X,y)
y_pred=logreg.predict(X) #ErHEECH
y_prob=logreg.predict_proba(X) # AISEE
round(logreg.score(X,y) x 100, 2) #confusion matrix

print(y_pred, '\n',y_prob)

> [111...000]
[[0.08509762 0.91490238]
[0.33314044 0.66685956]
[0.04025974 0.95974026]

22 7hx| EHE]

pclass age sibsp parch sex_female embarked_C embarked_Q

0 1 29.0000 0 0 1 0 0

logreg.predict_proba([[1,30,0
#1555, 304, RExtd=0, &%=

array([[0.67906074, 0.32093926]])

AZEE AP 67.9%, MZ 321%2 0|S => LISt 20| THERE Ao 2 ThA

logreg.predict([[1,30,0,1,0,0,111) array([0])
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Stochastic Gradient Descent (SGD) : A&=i0}C} EHE Fote7t Hi D] #150] 30} 42%~78%

SE{BHEEIR} FpHR| X10| HFZEho| A8 s Y > S71240] OLS FHXI2H SUs

Gradient Descent W2 7|27|(HM, 0|2) & FAU2 A= YO 2071 0|5

A
Initial

Weight \
Incremental

[ Gradient

]
Cost ]
1]
I

1
mse = ;Z(yi — (mx; + b))2
i=1

2 n
— ;; —x; (yi — (mx; + b))

Minimum Cost

n
o ] 2
Weight " : a/ab — HZ — (yi — (mx; + b))

Derivative of Cost

from sklearn import linear_model

from sklearn.linear_model import SGDClassifier
sgd=1linear_model.SGDClassifier(max_iter=10, loss="'1o0
sgd. fit(X,y)

y_pred=sgd.predict(X)

y_prob=sgd.predict_proba(X)
sgd.score(X,y) #confusion matrix

T A A

ConvergenceWarning) ConvergenceWarnlng)
0.42090124640460214 0.7497603068072867

print(y_pred, '\n',y_prob)

> [111...000]
[[0.00000000e+000 1.00000000e+000]
[0.00000000e+000 1.00000000e+000]
[0.00000000e+000 1.00000000e+000]

AEstE0| 3oEoz 9, 19 2

—

o

7I'E|:_|-_

x

I
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o AL o S(EE)HES B

Body
Temperature

node 47| branch : QIAIAH TE| HE
Internal

!
node £

Warm
- BJZ e b It LER A OFXjRto) Qs TS

=
EO|E =2t STt

—

s CilR] ZRF, HIEZRF PEsHs B0l oAZHLIR
------------ LT )RR HEE TR =2 oS4 [HIR] - XE12H(cold)
Mammals m:r:;;ls e HIEXRFZE I Warm(sesolH) 22
2) B Tt A% JHH|E HAP S0 iR 2 ZRRHHAl
L2 J%X| QoM H|ER2 2 s}
OAZEHLIR = B (group prediction, disciminant), & & (classification, T H2A) 2% &

= —
47 SRR O|TIH W2 Litels 71274 TR 3001 0! 8 oSt

« IE2T|= =0l A H(information)2| ZHEIA(E&HAIA] uncertainty, 2%
impurity) 2|0[8iCt AEZLV| 2245 0T YEHELEH 222 &5t

1.0 — Z42|XIC

https://www.kdnuggets.com/2020/01/decision-tree-algorithm-explained.html

C
E(S) = ) - plog,p;.

Play Golf
Yes No

S : current state,c : no of cells,p;: prob(i —th cell)

9 5 Entropy(PlayGolf) = Entropy (5,9)

= Entropy (0.36, 0.64)

= - (0.36 log, 0.36) - (0.64 log, 0.64)
=0.54
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(EEERCEI=E)) [2EE 270 ML SAHEFELIR]

= T : current state, X : pred . attribute
e :,'%,',L Z E Z E(PlayGolf, Outlook) = P(Sunny)*E(3,2) +-P(Overcast)’E(4,0) + P(Rainy)*E(2,3)
x| M| AtEfZ - = (5/14)*0.971 + (4/14)*0.0 + (5/14)*0.971
ég%ui—,f;; =X Z3(0f - 0.603
EHHE~ MEl X|E [Information Gain] /G (T, X ) = Entropy(T) — Entropy(T, X)
Of|=Hi40| Bi=2 Hstr|7| M JIEZL|Q} Hst S JIEZT|Q| X}0|E Falst ZIOZ |G 40| 2= mhHEs=

low high HAC(QEE)J LI} <=> med
information information ET'__E( T'__'rr) |' = |' =
aai gai SEREEE

elelele

EHHHA MEd X [GiniIndex] Gini = 1 — Z (pl)2 0|73 of|Zui0)|at ML

—

[— Entropy = = Gini Impurity -+ = Misclassification Error]

Impurity Index

p(label=1)
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from sklearn.tree import DecisionTreeClassifier
decision_tree=DecisionTreeClassifier()

decision_tree.fit(X,y)

y_pred=decision_tree.predict(X)
y_prob=decision_tree.predict_proba(X)
round(decision_tree.score(X,y) *x 100, 2) #confusion matrix

> 93.0

print(y_pred, '\n',y_prob)

> [110...00 0]
[[O. 1. ]
[0. 1. ]
[1. 0. ]

[A=2 7HA| £HE]

pclass age sibsp parch sex_female embarked_C embarked_0Q

0 1 29.0000 0 0 1 0 0

’
#153, 304, 2ORH4=0, SUSA=1, X, ZYT Q 3%

e

=E]
=

array ([[1., 0-11) a2 o1 100% A 0% => LIS} 210| TREEIC AZfO 2 mH

decision_tree.predict([[1,30,0,1,0,0,1]1]) array([01])

p
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OIAEH LIF TR At

from sklearn import tree
tree.plot_tree(decision_tree.fit(X,y), feature_names=X.columns)

[Text(164.99976284983853, 212.71304347826086, 'sex_female <= 0.5\ngini = 0.483\nsamples = 1043\nvalue = [618, 425]'),
Text(64.21655005382132, 203.2591304347826, 'age <= 9.5\ngini = 0.327\nsamples = 657\nvalue = [522, 135]'),
Text(9.370075349838537, 193.80521739130435, 'sibsp <= 2.5\ngini = 0.487\nsamples = 43\nvalue = [18, 25]'),
Text(4.32465016146394, 184.3513043478261, 'age <= 0.375\ngini = 0.198\nsamples = 27\nvalue = [3, 24]'),
Text(2.8831001076426266, 174.89739130434782, 'gini = 0.0\nsamples = l\nvalue = [1, 0]'),

Text(5.766200215285253, 174.89739130434782, 'age <= 0.792\ngini = 0.142\nsamples = 26\nvalue = [2, 24]'),
Text(2.8831001076426266, 165.44347826086957, 'age <= 0.708\ngini = 0.444\nsamples = 3\nvalue = [1, 2]'),

from sklearn.tree import export_graphviz
from sklearn.externals.six import StringIO
from IPython.display import Image

. = StringIO()
export_graphviz(decision_tree.fit(X,y),out_file=dot_data,filled=T

ZOE DIESIX| I RF 02 IHEEIC RE LT (X[A2(0= Al 618, ME 425
) X T4 T240] 0.5 0[SHsex_female=1 044, 02 EHad)7t AFRIQ! SZHEY, 657H)2 215 (true) 22 &
false) =2 71| EICt. X['sex_female'].value_counts)

3 96H Al 200F ‘HZE0(UCE 0| HEHE BEH S=01 2leh 2.58= 0|4 0]

2 386
311, 253-852) YEHO= 2Rel0) B £ES TYSIASS HOEH

True sex_female<0.5 ) Fals
gini =0.483
samples = 1043

value = [618, 425]

=]l
n
=
0x

[>
=
)
%)
o))
02
rlo
-0
:Ml
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Random Forest : 93% Ot X}0|= QoL ™

o
rlo

22 7io| £

DECISION TREE |

DECISION TREE Il |=—p z m

DECISION TREE |1 | st

=2 =0/7] fI510 24 Y HIO[H=RE =55
= ol= YYoct J2HE2 SEHE S20 Eﬂfﬂf 21K

H|a} EHEE A i JHA(

2T = _I_
iTR

d0]0
HHO{l= p /3, rule of thumbs - EHEEE

712521 B 2} bagging0il= 57H 0| Q| EICE 22| oixl= & 054 p = 1074, Bagging0il= 4
N EEHART}RUS)

=
S

a%ﬁ¢m¢ﬂpﬂ@$%MH0§%EWEwiMAIWIJ§H
O

from sklearn.ensemble import RandomForestClassifier
random_forest = RandomForestClassifier(n_estimators=50)
random_forest.fit(X,y)
y_pred=random_forest.predict(X)
y_prob=random_forest.predict_proba(X
random_forest.score(X,y)

Ssl= ol mhd =
i setE 3 EHHEEIC =5

print(y_pred, '\n',y_prob)

> [110...000]
[[0. 1. ]

[0.03 0.97 ]
[0.72 0.28 ]
MEL 7Hx| =

’
array([[0.86, 0.14]1) sj=si= At g%, M2 14% => LIS} 2H0| Ajgto 2 T

random_forest.predict([[1,30,0,1,0,0,1]]) arrav(oD
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Support Vector Machine

=5 L= 372X 2R ARRE & Qe MRSV [H0[CL (F2 27 A0l AE) p A S7e| 7HXIS

7t A 2R(EE)st= 510[1H Z2|21(hyper-plane)2 310t 2FE 2lisiCt

o 4

https:/Avwww.analyticsvidhya.com/blog/201 7/09/understaing-support-vector-machine-example-code/

510 [THZ2{21(047 | ool = 15 stolESaIT FHE FHRIze| 2|2 margn (121 19)

5} £li= 510|H Z2iolo| 7Ha B2 EEAl|CE J2019| 29 sto[ESall (7t 7ta B2 e RlofTt 12l
o) P 7f2l(marg) SR A7} 48 EREAOILL B 957} Exfslz 71a|§jo1wer¢+ugg
H:

HO|HoUL QERI gl= AS Z1H EE
O

2] 9= Al=toiM = 2| E|CHSKEICH

[o|EHZ2folo2 = A 0| E7FS3ICE ChAl 22 = x2 + y?
mZ2f2lof ELct

T
ol
3
S
=
]
i
EEl
ol
ol
o
ial
A
ol
M T
= ogl
_o'h
: oll

*x k| %
[
°
x %000
X K% I KKKk K ey
090000
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SVM (1d)

from sklearn import svm
SVM_linear=svm.LinearSVC()
SVM_linear.fit(X, y
round(SVM_linear.score(X,y) *x 100, 2)

[»> /usr/local/lib/python3.
"the number of iteraf

79.39 EHHEAEl convergence T=ESIX| 25109 Of
2ot 22t confusion matrixO| EH2td MEH|g H2ba.

[»> array([i, 1, 1, ...,

SVM.predict(X),SVM.predict_proba(X)

(array([o0, 1, 1, ..., 0, 0, 0]), array([[0.31615741, 0.68384259],
[0.01200003, 0.987999971,
[0.01052188, 0.98947812],

[MZ2 7HA| £rE]

ISVM.predict_proba( [[1,30,0,1,0,0,1]] )_
1

#1532, 304, 2oxhd=0, SHS2=1, HA, YT Q Y ©Y

IE-) array([[0.51084126, 0.48915874]]) m

S 0| Ao T

SVM.predict([[1,30,0,1,0,0,1]1]) [» array([0])

op
e
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K Nearest Neighbor 83.41%

Tt ZHH00 77k D8 7RIV H 2 IS0 THHSHS H|D4- ERERIO|CE K=3 (RTH EHE0)| AFE
C

77 a2
El= 02 71| )2l Z= 7HA| 2717t &5t £t Boll 2751, K=65 AI83IH &t A 2FEICE

wh

_____________
’ \N\\ (I
. ass
.
.
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Ay
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e
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1 1
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1 ! !
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\ /, 1
’
k=3_." ‘'@
SO - /’
______ )
,
 k=6__- ®

K=5 571 O|R7ix| &&

from sklearn.neighbors import KNeighborsClassifier
knn=KNeighborsClassifier(n_neighbors=5)
knn.fit(X,y)

Y_pred = knn.predict(X)

round(knn.score(X,y) *x 100, 2)

knn.predict(X),knn.predict_proba(X)

57 O|R2=2 7JHd| EHSIZZ 57 JHH = B2 TTH| EHEsH Hotoz ZHHSI| AtsE
E2 (HTho] %8t 4™ H=~/5)
(array([r1, 1, 1, ..., 0, 0, 0]1), array([[0.2, 0.8],

(0. , 1. 1,

[0.2, 0.8],

[MZ2 7Hx| ]

knn predict proba([[l 30,0,1 0, 0,1]])

=

i

array([[0.6, 0.4]11) xtssis Al 60%, A4 40% => LISt 20| Ajto 2 Eh

knn.predict([[1,30,0,1,0,0,1]1]1) > 2array([0])
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Fisher 21 (LDA)

iris GIO|E] (n=150, RIEHAS=37 &, 0|SH4==Petal 22! 50|, 20| Sepal Ze+&IZ=2t 20|, Si0))

import pandas as pd
iris=pd. read csv( https://vincentarelbundock.github.io/Rdatasets/

RangeIndex: 150 entries, 0 to 149
Data columns (total 6 columns):
# Column Non-Null Count Dtype
0 Unnamed: 0 150 non-null int64
1 Sepal.Length 150 non-null float64
2 Sepal.Width 150 non-null float64d
3 Petal.Length 150 non-null float64
4 Petal.wWidth 150 non-null float64
5 Species 150 non-null object

Iris Virginia

from sklearn.preprocessing import StandardScaler
= StandardScaler()
X=sc.fit_transform(iris.iloc[:,1:5])

° 1 iris.iloc[:,1:5].columns

[> Index(['Sepal.Length', 'Sepal.Width', 'Petal.Length', 'Petal.Width'], dtype='object')
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from sklearn.decomposition import PCA
pca=PCA(n_components=2) #FM& 27§ it

df_pca=pca.fit(X).transform(X) #3482 #3

print(iris.iloc[:,1:5].columns,"\n",pca.components_.T) #loadings

Index([ 'Sepal.Length', 'Sepal.Width', 'Petal.Length', 'Petal.Width']
[[ 0.52106591 0.37741762]
[-0.26934744 0.92329566]
[ 0.5804131 0.02449161]
[ 0.56485654 0.06694199]]

FHEHS iris_pcaldl ‘SL_PT','SW' O|ESZ CHO[H{ =& Xzt
SL_PT SW

0 -2.264703 0.480027

1 -2.080961 -0.674134

2 -2364229 -0.341908

Fisher EfE=4 (2H T12|7] 9{510 XA S 2712 5I13)

from sklearn.discriminant_analysis import LinearDiscriminantAnalysis
y=iris.iloc[:,5].values #EXES =Xi5t sHX|Pt EXAPEE OCi2 UAZ
da=LinearDiscriminantAnalysis(n_components=2)

model_da=da.fit(X,y)

o2 7t & miEst= xRIE MBSk X ALt (n_components=2)
da.fit(X, y).transform(X)ole X2 XNzt

import numpy as np
np.unique(y, return_counts=True)

(array([ 'setosa', 'versicolor', 'virginica'], dtype=object),
array([50, 50, 5017))

JHEE iris_dim SO|H=0]| ‘diml', 'dim2' O|ES= XZ

iris_dim=pd.DataFrame(lda.fit(X, y).transform(X),
index=iris.index,columns=['diml', 'dim2'])
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index=49 (50" ) setosa 1, 'versicolor'=0 ‘virginica'=0
index=50(51#x]) setosa 0, ‘versicolor'=0.99 ‘virginica’=0.0001
index=51(52mx]) setosa 0, ‘versicolor’=0.99 ‘virginica’=0.0007

[> array([[1.00000000e+00, 2.32225794e-20, 4.24175670e-40],
[1.96973176e-18, 9.99889412e-01, 1.10587759e-047,
[1.24287800e-19, 9.99257470e-01, 7.42529660e-0411)

y_pred=model_da.predict(X)
iris_da=pd.concat([iris_dim,pd.DataFrame( red,index=iris. index,
columns=["result"]1)],axis=1)

iris_da.iloc[49:52,:1]

diml dim2 result
49 7.671967 -0.134894 setosa
50 -1.459275 0.028544 versicolor
51 -1.797706 0.484386 versicolor 2|9| AFSSIE ZuMC2 THEE|| HEE| )2

Confusion matrix and Accuracy

from sklearn.metrics import confusion_matrix,
classification_report, precision_score

NS 08% setosa 100%, versicolor 98%(17H 2&E%), virginica
96. 1% (274 9
[[50 0 0]
[ 0 48 1]
[ 0 2 49]]
precision recall fl-score support
setosa 1.000 1.000 1.000 50
versicolor 0.980 0.960 0.970 50
virginica 0.961 0.980 0.970 50
accuracy 0.980 150
macro avg 0.980 0.980 0.980 150
weighted avg 0.980 0.980 0.980 150
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HHOE], =W, BHERI 3 EEECHH|0]E X7

= =

iris_pca_da=pd.concat([iris,iris_da,iris_pcal,axis=1)

iris_pca_da.head(3)

Sepal.Length Sepal.Width Petal.Length Petal.Width Species diml dim2 result SL_PT SW
51 35 1.4 0.2 setosa 8.061800 0.300421 setosa -2.264703 0.480027
4.9 3.0 14 0.2 setosa 7.128688 -0.786660 setosa -2.080961 -0.674134
4.7 3.2 13 0.2 setosa 7.489828 -0.265384 setosa -2.364229 -0.341908

— = T o T
import plotly.express as px
fig = px.scatter(iris_pca_da,x="“SL_PT",y="SW",
color="result",title="LDA with PCA")
fig.show()
LDA with PCA
! " Csle :" .
5o LR :
o ...nn° -:‘:‘

EFETEE (XS4 dim) 2 JeiZet FolohA| ST, TR x-x 1 gie| 32 CHE

= c

MI

import plotly.express as px

fig = px.scatter(iris_pca_da,x="dim1l",y="dim2",
color="result",title="LDA with Discriminant dim")
fig.show()

LDA with Discriminant dim

. ® result=setosa
® result=versicolor
2 5O ® result=virginica
° .
L} L]
1 LI
o~ ":".-
E o s
- >
L
1 g
-2 .
-3
-10 -5 0 5 10
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Fisher QDA

import pandas as pd
iris=pd.read csv( https://vincentarelbundock.github.io/Rdatasets
v

from sklearn.preprocessing import StandardScaler
= StandardScaler()
X=sc.fit_transform(iris.iloc[:,1:5])
from sklearn.discriminant_analysis import
QuadraticDiscriminantAnalysis
y=iris.iloc[:,5].values
da=QuadraticDiscriminantAnalysis()
model_da=da.fit(X,y)

AV SIS U EHEEIEH: T T 08% (LDA EREIL SUE Al ME FetS)

probs_da=model_da.predict_proba(X)

y_pred=model_da.predict(X)
from sklearn.metrics import confusion_matrix,

classification_report, precision_score
print(confusion_matrix(y_pred,y))
print(classification_report(

[[50 0 0]

[ 0 48 1]

[ 0 2 49]]
precision recall fl-score support
setosa 1.000 1.000 1.000 50
versicolor 0.980 0.960 0.970 50
virginica 0.961 0.980 0.970 50
accuracy 0.980 150
macro avg 0.980 0.980 0.980 150
weighted avg 0.980 0.980 0.980 150
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iris_da=pd.DataFrame(y_pred, index=iris.index, columns=["result_qda"])
iris_pca_da=pd.concat([iris,iris_pca,iris_da],axis=1)
iris_pca_da.head(3)

Sepal.Length Sepal.Width Petal.Length Petal.Width Species SL_PT SW result_qgda

5.1 3.5 1.4 0.2 setosa -2.264703 0.480027 setosa

49 3.0 1.4 0.2 setosa -2.080961 -0.674134 setosa

4.7 3.2 13 0.2 setosa -2.364229 -0.341908 setosa

import plotly.express as px
fig = px.scatter(iris_pca_da,x="“SL_PT",y="SW",
color="result_qgda",title="QDA with PCA")

fig.show()
QDA with PCA
3
. o ® result_gda=setosa
= ® result_gda=versicolor
2 e ° e result_gda=virginica
oo °
1 °d
e® o
. o® o
; 0 o'f. . .
0
o %
....
-1 © 0.
a
-2 *e
L
-3
-2 0 2
SL_PT

é& HNU Dept. of Statistics http://wolfpack.hnu.ac.kr (563/57]



http://wolfpack.hnu.ac.kr

(CHHEE OIZ2H]

(2T 37} Ole_m{l2{d Hi|o]&]

DEE 370 Ol Hale{d 7|[H &8

(]

features=iris.ilocl[:,

[1,2,3,4]]

from sklearn.preprocessing import StandardScaler

= StandardScaler()

=pd.DataFrame(sc.fit_transform(features),columns=features.columns)

y=iris['Species']
.head(3)

Sepal.Length Sepal.Width Petal.Length Petal.Width

0 -0.900681 1.019004 -1.340227 -1.315444
1 -1.143017 -0.131979 -1.340227 -1.315444
2 -1.385353 0.328414 -1.397064 -1.315444
LDA 2#at E2| X= Ho|HZQES = Aggict., 101 ZESHet Hi¥S ChA| Co[H =2
£ BFESO0{FoF S}, W*ﬁ#SQIE% b &olst ZR0ll= & IE§§fﬂﬂm Zesirt,
$¥ ClolEf= Zo|, Ho| 2F ¥ 0|1 Ik sHAZ|2 SYsSIEE 20| EFESt & EHers
oiCh. 5t04, ChEel MAzd 71" AloM= ChEat 20| QIﬂm £ ME5IULCY.
=iris.ilocl[:,[1,2,3,4]]
y=iris['Species']
.head(3)
Sepal.Length Sepal.Width Petal.Length Petal.Width
51 35 1.4 0.2
49 3.0 1.4 0.2
47 3.2 13 0.2
BHE i et
9 y.value_counts[]
[> setosa 50
virginica 50
versicolor 50
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oz [ 100.0

from sklearn.tree import DecisionTreeClassifier
decision_tree=DecisionTreeClassifier()

decision_tree.fit(X,y)
y_pred=decision_tree.predict(X)
y_prob=decision_tree.predict_proba(X)
round(decision_tree.score(X,y) *x 100, 2)

from sklearn.tree import export_graphviz

from sklearn.externals.six import StringIO

from IPython.display import Image

import pydotplus

dot_data = StringIO()

export_graphviz(clf,out_file=dot_data, filled=True, rounded=True,
special_characters=True, feature_names=X.columns)

graph = pydotplus.graph_from_dot_data(dot_data.getvalue())

graph.write_png('diabetes.png")

Image(graph.create_png())

Petal.Length <2.45
gini = 0.667
samples = 150
value =[50, 50, 50]

True

Petal.Width <1.75
gini=0.5
samples = 100
value = [0, 50, 50]

samples =3

Sepal.Length <6.95
gini =0.444
value = [0, 2, 1]

decision_tree.predict_proba([[5,3,3,2]])#Z8% Zo[/50] |22 Z0|/50]
array([[0., 0., 1.11)
setosa 0%, versicolor 0%, virginica 100% —> virginica E#

decision_tree.predict([[5,3,3,2]1]1) [ array(l 'virginica']

p
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Ay Zeae [» 100.0

from sklearn.ensemble import RandomForestClassifier
random_forest=RandomForestClassifier(n_estimators=50)
random_forest.fit(X,y)
y_pred=random_forest.predict(X)
y_prob=random_forest.predict_proba(X)
random_forest.score(X,y)

array([[0.04, 0.46, 0.5 ]1])
setosa 4%, versicolor 46%, virginica 50% —> virginica

random_forest.predict([[5,3,3,21]) array(['virginica’']

K-neighbor £ [ 96.67

knn.predict_proba([[5,3,3,2]]) #=

array([[0., 1., 0.1]11])
setosa 0%, versicolor 100%,

knn.predict([[5,3,3,2]1]). [> array(['versicolor']
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from sklearn import svm
SVM=svm.SVC(probabilit
SVM.fit(X, vy)
round(SVM.score(X,y) *x 100, 2)

SVM.predict_proba([[5,3,3,2]]1) #Z=g&

array([[0.06947909, 0.91207031, 0.0184506 ]11])
setosa 7%, versicolor 91%, virginica 2% —> versicolor

SWM.predict([[5,3,3,2]1]1). [» @array(['versicolor’]

My sy 2667
Not convergence warning : EHZANLE CHE dfap Aogt
(Warning U= B2 AHEotX| X}

from sklearn import svm
SVM_linear=svm.LinearSVC()
SVM_linear.fit(X, vy)
round(SVM_linear.score(X,y) *x 100, 2)

Al 2 RISSH| &S

SVM_1linear.predict([I[5,3,3,211) # Zol,
[> array(['setosa']
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